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Note: ~You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.
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SECTION-A ii.»

Q.1 Questions /=11y A B C D
- 22, —3) 5

o - FECLIH2, )4 I il 0 v
Point (2, -3) lies in quadrant: -

D _c_ﬂa’- --------- /Jwéd,{ll,d__(/uéu;fju —t e ‘f[;.u bosl

| Equality of two ratios is called--------- : Proportion Ratio Congruent Average

3 ] 3] o1 G (Sionmenmanee ey » o A o«

" | Inatriangle, there can be only ---------- right angle/s. Two Three Four One
Ot sbndund Gt uE Leb i Lusuisa PGS A FE s

4. | Ifthe three altitudes of a triangle are congruent, then . 3 i

the triangle is ---------- 3 Equilateral Isosceles Right angled | Acute angled
L 15 B eI st S Solr s 15 5 (575 25 »

5, e b Bl pmemermane et S s AT e
Any point equidistant from the end points of a line Bisector Right bisector Median None of these
segment is on the ---------- of it: s

— W f s

6. . g I.J-'lsd_ 250, 1) ss1(1, 0) b8 0 ] N 2
Distance between the points (1, 0) and (0, 1) is-----;

((_puwi./lsHb’z_lku)'bohHLl:.J_fdﬁJpJ‘_}ék( )

7 -z“.t'll;{" ......... el By o L
The region enclosed by the bounding lines of a closed Perimeter Area (@1 Altitude
figure is called ---------- of the figure: )

(Cantinnad /DTM / \\// B TR
2 A\ S
] Questions /.=ti» A BAY] c D
N Y ) — ! LIS ss @: ]
8. | Diagonal of a parallelogram divides it into ---------- ? Yo &
congruent triangles: Two Three Four Five
1 2 4 70
'ﬁ.);ﬂ/‘b’[ s C/ 3 1 1

5 30 -5 2 4113 0 -s

; < 0 -2 -2 0
|1 2 4. \ 3 -5 1 =2 4

The transpose of matrix " 5| @ -5 4 4 -5

\\'k 13

10. G\ > 1 » ; .
The value of /12 i§ --<e-se-n-, d

11. -c bk log 19 0 : . 5
The characteristic of log 19 is:

19, g 5% 4 a2y 1 2
The degree of polynomial 5x* + 3x2 ig-ne-eer-r- ¢ ] !

. 3% 2 2

13, AL ESEE =170y ~ 120 ), I = (=38 T 5t 3
Factors of 5x7- 17xy - 127 are: (x+4),( V)| (x=4y),(5x=3p)| (x — 4y),(5x+3y)| (5x 4y),(x+3y)

" - F i 30xyz, 45xy, 1552 Y. ) , O

' Xz 1 90,
LC.Mof15x%,45xy and 30xz is: 5x yz 90x2y7 Xz
------ 12341600 vl ) C o1 i 4w (]
If the capacity °C’ of an elevator is at most 1600 C <1600 C>1600 C > 1600 C < 1600

ts.

pounds, then-------- -,
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SECTION-B /».»
2.  Write short answers to any SIX parts. (6x2=12)
4 7
i. IfA= “ B= then find AB.
2 -7 8
ii. Findthevalue of x and y If x+ iy +1=4-3i
iil. Intheformof a-+ib, simplifyit: (7 +2i)(=3 —4i)
iv. Calculate. log,3xlog,8
v. Iflog2=10.3010 then find the value of Jog32
6
vi. Rationalize the denominator. ————
V8 27
3
i, Evaluate: 2222 if =3, y=—1, 722
vili.  Factorize: x* +14x+ 48
ix.  Factorize: 1- 64x°
3. Write short answers to any SIX parts. (6x2=12)

) . 1L, 1 I
i.  Find square root by factorization. —x* ——xy +—
. J 160 127 36

li.  Solve the equation. x—'3-—3 - 15_2 =—]

iii. ~ Solve the inequality. — —;—x+5 <1

iv. Drawthe graph of y=3

V. Find the value of m and c of the given equation by expressing it
in the form of y=mx+c: 4x-y+6=0

vi.  Find the distance between two points: A(3,-5) , B(4,2)
vii.  Find the mid-point between two points: A(4,2) , B(-6,
viii. Whatis meantby S.AA=S.A44?

ix. Define parallelogram.

4. Write short answers to any SIX pa (6x2=12)

i. CDis right bisector of the line segment in the given
diagram. if m AB = 6 cm, then find the value of m AL
andmLB.

ii.  Verify that 3cm, 4cm, Scm are the sides of a triangle,

iii. ~ Define congruent triangles.

iv.  Find the value of x in the given diagram.

v.  Verify that the triangle having the giving measures of
sides is right angled triangle.
a=16cm, b=30cm, c=34cm

vi. Find the area of a square whose length of one side is §cm.
vii.  Define altitude or height of a triangle.

viii.  Define point of concurrency.
ix. Constructa AABC in which.
mBC=4.2cm, mCA=3.5cm, m£C=75°

(P10)

o [

RO

e F lange 2

ol

x+iy+1=4-3i fgpbr i yox i
(T+2i)(3-4) -~ L a+ib i
log,3%log,8 &S v

i flog32in log2=0301001 v
2 PHURF i

4
N8I A =
2

6
N
x=3,y=—-1,z=—-2ﬁ %Zz—’c{rﬁ”:—f i
X'+ 14x+48 Z87 i
1-64x° 257 ix
ez A langedd 3
1 1 1

ey el b i
6F 1277360 4 BT E DI

x+5<l.ZEffen-g

O%{& g y=3-'%l'r..J!fK:«!Jl/ v

ot mal LSS y=mx+cf aJ:P(.Sf 6w
4x—y+6=0
AB,=5) , B(4,2) - Lol sln i
A(4,2) , B(-6,4) &> Bl s¥in i
Sesl e iiif =i i
St ix
e FLangedl 4
G EAB A CD UL Tl i
J»mAB =6 cm/i
& =i fm LB »m AL

IS £ 80k 5cm, dem, 3em SZEt i

LSS i

-ér}’”;_é(fx ,_;tL}e(j"d, v

sl A LB OIS L P 2 St v

a=16cm, b=30cm, ¢ =34cm

- 8emU T L B S aL, i
oSl e i
L lBA i
LU LAABC  ix
mﬁ=4.2c:m, m(—Z—K=3.SCm, m£C=75°
(éildu)
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Note:-
5.(a)

(b)

6.(a)

(b)
7.(a)

(b)
8.(a)

(b)

(7]
section-c iro S/ —/—2}
G i @raNL ALy g f Sz LabinE Y
Attempt any THREE questions. Each question carries EIGHT marks (4+4). But question No.9 is compulsory.

Solve by crammer’s rule. S eSS
—4x+3y=8 —4x+3y=8
2x=y=-1 2x—-p=—|

2 b
(216)° x (25)?
B

©(0.04)7

(216)* x(25) A3

(0.04)

514%2037 0.7214%2037 4 5 2
Use log table to find the value of: 3“9,7_,_1:_;82_0._3_7 %/":W‘ -é(f'é’:‘-”dd“!r‘"w

AZ{()"';/EG x+y+z is xy x =405 X7+ + 2 =64 f

If x>+ y* +2> =64 and xy+ yz + zx = 40, then find the value ofx@@
Factorize by factor theorem. x* —x* —22x+40 = x*-22x+40 édf'éwduf’y‘
< &%75\ 2% 245 4163 . Ee P pa s i

Use division method to find the square rootﬁzg@ 12x—24x" +16x*
u‘i‘! bl Uil e tAABC

Solve the inequality. 4 - l x=2-T+—
Construct a triangle ABC angd-dy w@s!g ngle bisectors if
: mAB =4.2cm, mBC = 6em, mCA =5.2cm

(8) Uﬂﬂu?ﬂ(‘zlu‘J’td:/&.b;ﬁ;{ﬁv{l j’fé&t’
Kl L

Simplify.

4 —%x >-7+4 ?11\ ,éd’fabl//_f'

]
Prove that parallelograms on the same base and u’rdﬂ:’éwbwb:’JK/'CJMUIL,JV(‘}':/whd»Uf b

between the same parallel lines (or of the same
altitude) are equal in area. S 3musadinEgDunliveLis

(a)-5

(b)

(a)-6

(b)

(a)-7
(b)

(a)-8

(b)

-9

11-124-1A-58000




]

‘Mathematics (Science Group) [Group 2] SSC (9*)1*Annual 2024 Lol dex

Marks:15 Time:20 Minutes Paper: | Objectiveiii Code[ 5 1[9 [ 6 | Gis*s Lgg w2025y 151 2 s ) (n /¥ Vguiabiy

7 Udmlie LA e MW Lo ne B s L Jir 43632 2_sD B A M2 Lhe L i i
S ~2 ~24 Kb ud i eSS S S

Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (ji.»

[ Q.1 Questions /.11 » A B c D
1. Bt e p/ gttt e L2 [ £ ) o e
Aray has ----- --- end point/s. - One Two Three four
et/ LS e I S KL ¥, . . &
. ! o
2. 1A diagonal of a parallelogram divides it intg -------- Three Two FoLr Fi\‘/:e
congruent triangles.
3. -‘Ll"ﬁl:f(-—w (940 Lol — JI/LJ:‘.; ) Lf e é&
Bisection means to divide into -------- equal parts. Two Three Four Five
-wi.n/z"_t‘m_i:"’-g/i}; -------- L/Kb’.zb‘"(}/ My 2 o e
Aline segment has -------- mid-point/s. One Two Three Four
Y3 A S LA S 4z
Medians of a triangle are -------- . Non congruent |  Concurrent Congruent Equal
"LJM- ------- #90° o pb o g Eoun g5 S s v
. . i 1/ oo 733 W
Qa?:::;j_matem' having each angle ?qual to 90" is Parallelogram Rectangle Trapezium Rhombus
....... . <]
0 RN7)
[ S
7. 0 a d/‘ I e »l /1-'-'6
a 0}, . Zero it Singular Scalar
0 ol® called ---------- matrix. & &
(Continued/PT0) @ (Zidnie5.6)
. ] D
A
Questions /=41 o
R
In Ya , the indexis -----=---- ‘igﬁ
14x10*
s: _ ] A
L mmme— ,gqu2y3 +3Xy + yl ‘f//:f 2
10. L 23 B (s .
l The degree of poynomial ' * 29 1 2 3Gx+2) | (-D,Gx-2) | G=DBx+D)
. e AR ESE =X =2 (G, B35 2) | (e D
11. ; . o Lol - "
Factors of 3x” —x—2 are _ - g/ ¥ " s
Py a— LS ,Jbz.,;,,lry e 2 EUS 0 S Jf S (S:otient Product
12. Th_e‘ pr.o;iuct of two algebraic expression is equal to ST , aiaiisas
the -=----- of their H.C.F and LC.M. N < £10 x>10
R P P (| Py Jx \ x28
If.x is no larger than 10, then ------ v

el (4.3) P I

. Point (—4,3) liesin quadrant:
15082, 2)(0, 0) 58
Midpoint of the points (2 , 2) and (0, 0) is.

(1,1

000 % X %

15. 12-124-1A-39
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Vi
vii.

viii.

vi.
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Note:- Section B is compulsory. Attempt any THREE (3) questions from Section C but question No.9 is compulsory.

SECTION-B /».»
Write short answers to any SIX parts. (6x2=12)

7 -3
If A= ’: }then find 3A.
2 0

Simplify. (x*)? = x>

Evaluate. (-7)’

Find value of “x"if log, 9 = x

Define scientific notation.

3x%Jy +6
S5(x+y)

Simplify. \5[243.\‘5)}'02'5

Factorize. 27x° — 64y’

Evaluate. if x=-4 and y=9

Define remainder theorem.

Write short answers to any SiX parts. (6x2=12)
Find square root by factorization. 4x* —12xy + 9"

Solve forx. [2x+5|=11

Solve the inequality. 3x+1<5x—4

Draw the graph of equation. x = -3

CLil —2-2Y
ez langedd 2
_E I Tn A= [; “03]/: i
(Y =x i
(=) -ghpdred i
logy, 9 =x Jiptedd " v
e v

2
y:9ulx:—4/'lm<é(}“of
5(x+y)

3243x°y"2" ~.’:‘§/’/‘ i
27x* ~64y° G4 viii
E e i
e A Langedd 3

4x? —12xp+9y* B RS F 2k
Q@ i i
@—4-5..}’[.;;,(/,2 i

[2
+
O x==3 -Z_—l'/_d’/'?.:;l:l/ v

i

: N e ;O %% )
Find the values of m and c of the given equation by expressing itin 1l % LSty =mx+c Sahlsf8

theformof y=mx+c: 2x-2y+4=0

Find the distance between two points. A(2,-3), B(4, 1)
Find mid-point between two points. A(4, 2), B(8,~4) @

Define S.A.S postulate. <>
o 2 c
\"n\.‘o\ 18x
55°
A

(6x2=12)

If the given figure ABCD is a parallelogram, th
find x and m.

Write short answers to any SIX parts.

In the given congruent triangles LMO and LNO,
find out the value of unknown x and .

2cm, 3cm and Scm are not the sides of a triangle. Give reason.

Define similar triangles.

Find value of x in the given diagram.

2x—2y+4=0-2

@§ Z: A(2,-3), B(4, 1) Lotk i

A(4, 2), B(8,—4) &5p# B0 obbtn  vii
By I OT 0 By S

by Smaix A ABCDOBWSH#F6  ix

ZyfenE lange S 4

itz g P UALNO S LMOwes S &0 i

St WS £ a4 Sem, 3em, 2em i

e i

eedfx 2SS v

Verify that the triangle which has the measures of the given sides  -e- i/ LS diim L P eteSat v

is right-angled triangle. a =9cm, b=12cm, ¢ =15¢cm

Find the area of a square whose length of one side is 6¢m .

Find the area of the given diagram.

Define circumcenter.
Constructa AABC, in which
mAB=4.8cm, mBC=3.7cm, m£B=60°

a=9cm, b=12cm, c =15cm

-& 6cm JHJ&&JIQ@(PQ%&/ Vi
-z:(;h";/b’y&ﬁd) vii
EwJSH i

SRS EAABC  ix
mAB=4.8cm, mBC=3.7cm, m£B=60°

(&g

o
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Note:- Attempt any THREE questions. Each question carries EIGHT marks (4+4). But question No.9 is compulsory.

5.(8)  Use matrixinversion method to solve. Ee IpUF LU (@).5
2x+2y=4 2x+2y:4
~b6x+4y=17 —6x+4y=7
20 2m 2n 20 2m 2n
Simplify. | 2 |1 [ 9" e ey [ 7
(b) | p fy (ajﬂn J(amrm J(am! ah—m am«m amf é/j ‘b)
0.678x9.01 0.678x901 .« o . TN
6.(a) Use log table to find the value of, i 00234 "= L dd} : {/ (a).6
& LN PO W
e )

(b) If 3x- Ly 7 then find the value of 27x° —Lj . @
P 27x e
7.(a) Factorize by factor theorem. x* —2x? _ x4 ) {& X =2x-x42 -21'(6;?’4—w4567-’—’7 @-7
% 9x* —6x° +7x* —2x +1 _C’éf}yd/,//&g}/_/é (b)

(b)  Use division method to find the square root %ﬁx’ +7x* =2x +1

8.(a) Solve the equation, x + % =2(x —g) x +§] =2(x- 33) —6x ,éf_fd’f.:,ul/ (a).8

(b) ColﬂructatrianglePQRand it altitude i, _‘—é(cw,,),/g_m,,;é_meR (b)

mPQ=4.50m, mQR =3, £R=45° m-}'T:).zq,'scm’ m@:&gcm, mZR = 45°
9. Prove that any poin isector of an anglg is Sl Ui 5 st L o S 9
equidistant fro X Q%Zv (8) : e = = R
} -ebn
OR g
Prove that triangles on equal bases and of equal b 2] WH B e sh £ P Gy fot

altitudes are equal in area.

12-124-1A-39000
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Ao

velemmr

T SECTION-A Uji» Swl~|—23
[_Q.l Lans /Uiy A B c D
: G LU (=3, -1) I y I HI - -
3 —1) lies in quadrant T
i —U’C,{ f(jpjé.(j/l/(fu:“/» —FE g bost J(}" ':
qqgﬂfy-p‘f_tm ratiosis called______ Proportion Ratio Average Congruent
hig ‘ _u’é/(‘fub/»‘ 375 Y * is o ) A ik
Cl Two lines can intersect at point / points: one two three “four:
m,Lm ¢30° lihiseub Lo Luig | . !
4_ . q-L{/'NJLJb 30° 600 900 rzoa
| One angle'on the base of an isosceles triangle is o .
30 . What Is the measure of Its vertical angle? A
J.J'&, Licobisof LUIL s 5 @@é ‘i
4 4
ot ] PN 4 @ «7 - "
rlgﬁt bisectors of the sides of an obtuse inside @tbase at hypotenuse outsnde .
angle intersect each other the triangle: % .
% B0Lsk (2,2) 41(0,0) b6 ’ (L.0) 0 ( ) ]) W
id-point of the points (0,0) and (2,2) is o B
i = - = - PR
i e '.Luz_L/Jl.wz_,m_ﬁﬁ.-,wu,z,fw,dd‘*wf @@)
7. Py X A 4 Lo &r o
‘ The reglon enclosed by the bounding i perimeter area altitude umion w
closed figure is called of t ' @
; 8. AL CMM(SM Sz it il Ak W
Tl In a paralielogram, the opposite-sides are_____ Non-congruent Paraliel Un parallsl Unequal -
: =W
4-sl4 [x y][ ]:’JLL}/ R |
o [2x+y] (x-2y] [x+2y] [2x-y]
: j 5 _20% ¥ 2ab(i+i 4 ¥
4110, o %) 2 Cag 2ab 2abi ~2abi —-2ab :
: yRealpanof 2ab(1+1 ) is ,
11. _Ldrr JUJ/X)([; 0 | 10 b4 )
For oommon logarithm the base is 3 £
" s onb dxt v2x2d ¥ | ) 3 : §
| The degree of polynomial 4x% + 2x2y is .
I W ; A . .
13. ) -(ﬁff+y)(x2—xy+y2)'= =y x4y (x+y) (- )
et F St xt 64 02 ) 4l
b AWhat should be added to complete the square of 8x2 —8x2 162 452 gﬁ |
N T L R
“ gkl V—'d’d’é——2<x<}oblf/'x= ...... “
| x=.....is a solution of the inequality 5 . , <§ | 2 f
: : 2
11-123-1R-44000 ** ¥ %1/




7- ‘SWw/l- ‘f ~20 2 5 RoliNo. [ | | | | 1 | /whued |

Mathematlys(SclenceGroup) $SC (9t)1st Annual 2023 (185 i) o 3 \\
Time @ 2:10 Hours Group_=_1_] paper () 24 bt orf B0 s
Mféjks - {50 /0 Subjective A QLA =1-97 60 : /

- J
g -4 (9)/Jlrg££utl,?£u,’lru.' c.éy(c,u’:(r,)-:.d;u (il
-No_ﬁecuon Bis compulsory Atterpt any three (3) questions from Section C but question No.9 is compulsory.

e

: (SECTION-B /5.#)

. ‘“&-2. l%z'e-sh;n answer.s ta any six parts. (6x2=12) é//’..,u?/édiliadf .2
",;; “'-ne‘ rectangular matrix. ci(».»‘/’ S N6 &J’/ i
o 4 ! Lz]'and B.-_[ ¢ 7]thenfind 34-28B e 3A-2Bixn B=[ 0 7]m A:[] -2]/‘: i
13 4] -3 8] -3 8 304
B rational numbers. : ,é‘-—f..yﬁdauld’t i
the[:VBIue,ofx, if logg 9=x. logg, 9 = x Ji ’cf(-:"’_-/’(j X v
&9-4;9.'9 inn the form of scientific notation. -afutgfiu""ume_g i
“\/3 then find -1; . -4"5(}" ‘— Je=3=8B4 g
e.—x—’—},’—_—:z—zifx=-—l,y=.-9,z=4 x=-ly= —92:4/’5(}”./’(5—}):2—21 i
;:‘Sx+l6—4y2 . x +8,\-+16—4y'é£6'/.‘- i

bz FLazgedf 3

ers to any six parts. (6x2=12) -&’-,"’

1 . . B,
o l&e fa'cﬁm »ation 1o fmd the square root of K-l _+Z—; -& Yaln L SIPNEF
"J ’ X e X
i . x-3 x-
ii. $olva tm glven ‘equation. 5T =1 o {& S ,éd’fal;l/&’g, i
iii. Bafme l.'}hear EQUatlon % ,éqﬁdolsl/d/;.{ Al
iv. . Verify:whether the point (2, 3) lies on the line e By 2x-y+1=0J023) 5 S £
2% —y +1%=0 or not. @
-v. - -Find, tHa.value of m and c of the line by LLf/U:u’J’Jy mx+c, f..A;L/u’LS, v
. expre%sfng inthe form y =mx +c¢ $3p—-1=0 (-}"u‘jdc sm
Vi Fme} the dtstance between glven points A ,—6) -aé(r'yc&y,,r 8(3,—6) »l AQQ.-6) b i
= vil. What is meant by a triangle? Cel e s i
ik, "What is- meant by ASA=AS.A ‘ €4->l_/Lf¢/-J,/=J_J-, i
E | - - N %
X, The-gryen- figure LMNP is a parallelogram. . sS‘EZ ,c—CPUldﬂPV_[ILMNP J’é‘fd) X
e * ¢ A < m+ 10 T )
ks ‘Finé the value of m and nin it. i asimE ,c‘i'('()"’;/,’é nat m JsJ1
Gt moan ’ P
4, Wmla ‘short answers td any six parts. (6x2=12) é//’.,u;;‘L 2z df 4
i. |n ue gwen diagram CD is a right bisector of the -q._._w!.dnfﬁ ABB S DAL S
 lingsegment 4B If mAB = 6cm then find m AL A mLB M mAL I mAB =6em /]
Dy and mLB 2
P . % )
2 AR
fi. 2.cm.4cm and 7 cm are the sides of a triangle. Can a triangle be r‘ \JV"’ o Uy [,)J T4
. formed?. y
ik Deﬂn;e similar triangles. é:.;d/féu?‘ﬁ’,tﬁ’ i
: i ., s 3 A
”l\(_.‘ ‘ 4l E:LD-L—-/' DE|| BC L)"ABCJ v
PR AR L8 4 . b /NS Eab
' i m-AC ;1?'4;.86.'” then find mAE . gl i .éér}”mAE i mAC = 4.8cm
i L . J e | i .
LR A L J=z - 5
‘..v, Find'the value of x in the given figure. * E \llz -é()":/fdxu:féyd: v
- S : 1
What is converse of Pythagoras theorem? ' Sty gf:.:u}(ié y‘f‘ Vi
d!ﬁne altitude or height of a triangle. ,éi{._g/fd{,u? Nl eF i
_ Daime medlan of a triangle. . ‘ ,5_2/76.5&/;&&‘5’ viii
ix. C'wrstruct a triangle in which. mAB =3cm, mAC =32cm, mZA =45 J?g.be)‘/ ABC  .ix
o r : . (Turn Over 10
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— . = PP
e T L L T~

¢) , ° =

E (SECTION-C /r.o) Suy( -~ Iy 23 S
P "y

/ SAAINL S e B GV\Q_\Q.Q (4+4=8) .U AHNL iy ;.55 iz clivf h.m\s(h -

Zoﬁo.n>=r3u. any (3) THREE questions. Each question carries Eight marks (4+4=8). But question No.9 is

compulsory having (8) Eight Marks.

N 3 =1 . . 3 l_ . i

5.(a) Find B _m.: B=l, mnT s \;mé?m.._m (a).5
”Sn__? NuxAN.Qu xAmoY N\Y anoVN hmn\\ ®

; (180)7 x (4)7 x(9)3 @ :wsu x(4)3 x(9)i

, ﬁ_cmmmﬁum.ﬂ:os to find the value of (78 b (789.5)¢ xﬂmmm\ Wele s SE K Anev-a
(), Ifl 3+ y =7 and xy =12, then find the value %&\ B O S P N ?v

7. Amv ﬂmoﬁo_,_nm the cubic polynomial of x* —x |Nux+ MQ\“QNR \\Q:Q.nlﬁvﬁuiwc\..‘_\. &u 7
factor theorem. % Py

X —x*-22x+40 &

,buu - 'Find the value of k for E:_n: the given expression will @O Q@\Qwﬁ\..\&w»\h\u& \acnk.mkw; Auv.,.

--become a perfect square. 4x* ~12x> +37x% - 42x+k
4x' 120 +37x  ~Mx vk i -

! 1
s (4

8. Amv - Solve: :6 equation M+WHNQ| =)-6x ».+W . = mvlmx %MHQC\GE\ mc.v.o
: I “" T N . E
_Acv .Oo:m:.:o" A ABC and draw the bisectors of their angles. \m%.‘\..véh\c\%r.hﬂgzm\\r.»morn\? )]

g S.\Aw =4.2¢m,mBC = 6¢cm and mCA =5.2¢m mAB = 4.2¢m,mBC = 6¢m 1l mCA = m 2em

-?C.c@_\hc“\hwktismi(\av\hw.&cx%(s\ .Rm(w (2).0

9.(a) Prove that any point on the right U_mmo,oq of a line segment is mn:_a_m»ma from its end points.
OR )
Bunata 3mun 11285 4L DU Cisgesb s Lin SIS

mnno<m that triangles on the same base and of the same (i.e. equal) altitudes are equal in area.

11-123-1A-44000
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Paper : 1 Group : 1 Objective (¢, »s u;;:,,;/ B
- Time  : 20 Minutes (iv)

Marks : 15

<%

Q.1 Questions /.y, A n

Gl yiny=2x+lix=2 /|
fy=2x+1,x=2 then » is equal to:
At L UL w b Bp
The bisectors of the angles of a triangle are: Collinear
Mlre s Ll 3

Aray has end points.

b
Proportional

Concurrent

_J;ry.;idgfw;/uiféc}‘yﬁﬁ ; ;e 5 -
If three altitudes of a triangle are congruent, EC!::‘ ’f"/-, RI ’:)'/T WAL= 2l
then the triangle is: . quilatera g tang d Isosceles Acute angled

‘Jn.;i.uyrd;u?‘,;fd‘ B L 1S bt .
If two opposite sides of a quadrilateral are Parallel Jra . 2%
congruent and parallel, it is: elogram rapezium

- ‘d .
- 8Lk (2,2) 11 (0,0) 46 o‘ o1 (=1~
Mid-point of paints (2,2) and (0, 0)Is: \‘& |

LML v b s i s, Sl s’

. St p oty Ll

-&-b fu 100 g 4

The region enclosed by the boundipg fiid & erimeter Area Union Altitude
a closed figure i called the __gf the figirg. ",

WX (T
e SRRl [ .
triangles are of same {tz and shapg, , Collinear
_di_.'n)VL‘JG';!#JU’L 0 t \._JU
32 T M
9. - 3—b)l—% M 2—by =3 l-by-3 3-by~1
Order of transpase of | | is: ™ g A
3 2
!

10, =W ~ii+2) S A -2 2 3 .

Imaginary part of ~i(3i+2) is; . '

- . | n

11. '§’LC‘,'UGL{(J)JJ!(IOE(”1 ) (logm)" m log n n log m Iog mn

log(m™) can be written as: i

® ) [—"‘F

12 -c‘_.wb’(f;/ff4x4 + ZXZ'V | 2 3 4

The degree of polynomial 45" + 2x? ylsi | ‘

o v iz 2 _
13. MO penL 3t - x -2 F+D,Gx=2) | Gr+1),Bx+2) | (x- 1, Gx- 2)j (x=1),(3x+2)

Factors of 3x% — x — 2 are; :

. 2
-4&/’/4(0 -20“'] i(a+1) i(a‘l) (a—]) (a+l)
The square root of a2—2a+1 is: !
Jx+5<0 xX+2<0 xX=-2<0

_q.u(/b’\‘,r(fz_/_ ;,Ul/,:" =0 x>0
x =0 Is a solution set of the inequality;

09-122-A-39100 Ak % *
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RoitNo. [ [ T [ |

] J (/. ,Z,)}JLL{D

$.8.C (9")-A-2022 (VG
ime @ 2:10 Hours Group : 1 Paper (D 24 ﬂ;(h,f:; i =
Marks : 60 Subjective (! % q,. Y] 60: A

. Note:- Section B is compulsory. Attempt any three 3 qu

2. Write short answers to any six parts.
i. Define Square Matrix.

i, Find 24+3B "A=[12 2]and B:[S

fil.  Simplify by using laws of indices.

iv. Simplify.

v. Findthe value of x.

vi. Wirite 2 logx—3 log yin the form of a single logarithm.

(o33

vil.  Simplify.

vill. Rationalize the denominator.

ix, Factorize.

3. Write short answers to any six parts.
i Find H.C.F of 39x"y’z and 91x°y8z’
ii. Solve the equation.

iii. Define Linear Equation.

iv. Define Cartesian Ptane.

v. Find the value of mand ¢ of the line by

expressing in the form y = mn +c
vl. Write distance formula between twi

vii. Find the mid point of line seg ining.

viii. Define CongruentTriangles.

ix. In given paralletogram find value of x"and »°.

4. Write short answers to any slx parts.
i, What is meant by angle?

i, 1f 3cm and 4cm are lengths of two sides of a right angled ;triéangle, :
then what should be the third length of the triangle?

iii.  Whatis meant by proportion?

v Find the value of x in the given figure.

v.. Write down the converse of Pythagoras theorem.

vi. Whatis meant by rectangular region?

vil.  Find the area of given figure.

viii. Define Median of a Triangle.
ix. Construct AABC in which:

- ) Al ez lotrd edfcdfr o B3 onoud

estions from Section C but question No.9 is compulsory.
(SECTION-B /».»)

mAB =3cm, mAC =3.2¢cm, mZA= 45°

(6x2=12) -ég J Mg /’g[.»lzll,.:..éf
Eu 8N,

-af:rk'.-,szA+3BL«B=[5 '4],,'/1:[2 3]/6
-2 -1 1t 0

40y ;
3_9._ Al SIPSILUE]
log2x=5 —éf}v""}‘j +

-éU:J’tS(BJUxI:fZ logx~-3 logy
Py

3 2f %

b2
%{—2+;—f @® _ééﬂ’
(6x2=12) @ Y4 L.lmz:.&f
<& é(}"rbw 91x°y%z" it 39x7y’z

@@B

%
+3y 1=0

A(2,-6) B(3,-6)

¢ slm »’LL/AUU’ y=mn+c f..al;(/@'(j:
Z—f()" u:) §

Z’.oll o Sl tas

o Pt e LI iaLIB
Ho o

,é(}” Ay x vl d S

.é;: Y ul«m/)! Larigeds
~-\‘\ "qp)l/lfé.db
4cm ») 3cm UkHdCMJ:LJ»I)!/UUj/
= ?JAVGUG&’Q/‘LJMn
TQ—)I/_VLY/E'
-Zéryozéxr)‘”i:u:y

(6x2-12)

x 13em

é//’wu’@i
?4.;!/(/4—31}'&}'/
é()”.hvd@

dcm

édﬂé/ﬁ/}&j
SSEEaBC &

qgfdu)

(Turn Over

équl)l/ 5
Céd/" (5.;6;[/61;_[ .
E S

i

Wil

i
Wil
vili

M

i

il



5.(a)

(b)

6. (a)

(b)

7. ()

(b)

8. (a)

(b)

(©))

(SECTION-C /y_»)
i Swe- q/.
(4+4=8) 4§l (9)/()!:'0-0 AANL iy g s Ma vt < 37

Attempt any three questions. Each question carries Eight marks. But question No.9 is compulsory. (4+4=8)

Solve by the Cramer's rule. 2x+y=3 _Zifd’c,mdu]{?[./_// (a).5
. 6x+5y=1
Use laws of exponents to simplify. (81)" 3% - (3)4"—] (243) ,é}c;y(jdl)éb’o; (b)
2n 3
("))
Use logarithm to find value of: (438)3 10.056 gé(:"’d@wé,}:w (a).6
(388)°
, 1 1Y P 5 1Y 1
Ifx=2+-\/§,fmdthevalueofx——and xX—— = -r)”'cffé x—— ulx———}'nx=2+«/§f! (b)
x b x x
?(é&{.utx.(cf’;/{a_y/, (x-3) fq(x)= X —dx+k »l p(x)= ke +4x% +3x—~4 u:_”’))(&(of":gfd k (@7
Determine the value of kif p(x)= b’ +4x +3x—4 and q(x) = x’ —4x+ k leaves the same remainder when

divided by (x—3) . @
e

Use division method to find the square 9x! —6x> +Tx? §

root of the given expression. o %

e w b)

Solve. : Qig@z‘_x <1 : ES e

B> _

Construct the APQOR and draw the altitudes ,é@ 6cm, mQR = 4.5cm, mPR =5.5¢m ,éf"“;((/!ﬁ;l))/mé,la APQOR (b)

2Bl sp b B 1T nlb s bt L B PSS e
Prove that any point on the ri ector of a line segment is equidistant from its end points.
OR L
_&Jmuut,imum.ucwmwxb'écf‘f?o’.l/aifa.b

Prove that triangles on equal bases and of equal altitudes are equal in area.

-9

09-122-A-39100
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S

Roli Mo, L]

| L1

] (V2 N -l

$.5.C (9™)-A-2022

Paper : I Group : IT
Time : 20 Minutes
Marks

l Paper Code 15 | 1 |9|

[ 3

z
Y
¥

rr

A S-rt L//L

s b z....»l;h.-‘ l,;._()‘:u.ub._zr)::..b ‘/Jb’,:/dbdl;’..

(v-;d/fu':(/) (,94.[‘1
1o
<20

24
1)

5w¢-42¢2.).___z_

HELLoD 4l CBA M2 N LJir g =)

Kt Mu’iu:’/ Gt L./’/ S bl it .{f Usls ul,j:....-(l

Note: -You have faur choices for each objeciive type question as A, B, 3 and D. The cholce which you think Is correct; filf (hat circla in front of that
questicn number in your answer book. Use marker o7 pen to fill the circles. Cutting or filling up two or more clrcles will result no mark.

SECTION-A (il
! Q1 Questions /= lis A B_ c D
! - = "
! i e (}Jldll‘yl.yl“éts ":;.n“.!, H I_L = (__).
E The symbol used for “is pemendicular to”; ’
{ 2 AL I LS ot is N S
i In paralielogram opposite sides are: Oppesite Diagonal Same Congruent
! . _..._.l~ ik f, 4l (."Ur‘"l/ o p e 58 ‘ ' A
I 3| Bisection means to divide Into equal 3 t 2 4
L parts. |
Y .;3::‘_‘1’:(36’131“6 ' ey RN 4 s Jw [y
: o ._hasnounit. Ratio Proporiion Congruent ‘Equality
! k) 3 . . . .
! 5 _.__/"' 1ab¥ a —ub+u s 4 b ash 02 'sz a-b)z aZ —ab 4~'b2
| H.C.Fof o +h¥and o = b+ b is: NEON
% Lutoas 30, r_fr,_. s u"uld-' i @
i i
1 S TIE GV RV u_ Lo & o n G}
H \4 & e <
6. | one angle on the base of an isosceles 30 O 20 120
triangle is 307, What is the measure of its 9 {&
vertical angle? ' AN <
- e EE W i3 +2) » @Q v y -
I ' [ imaginary part of =i(3i+2) is: |
. - =2
Y i sl p e yE e loy=2 /i o Q> 3 4 5.
| | foar=2dyel,n=2 then s A " '
— T -
: 9 B I B T o8 MK 1 10 ¢ 0
The fogarithim of unity to any basg &
~N N ] ]
10 e W3+ 30 =2 v B bl el 2
L dya3p-2 isan algebta Expression Sentence Equation Inequation
' ! srie i 0" S
1L , J ki C <1600 C = 1600 C' s1600 C>1600
! . If the capacity “C” of an elevatov is at most
| ' 1500 pounds then:
I 19 ! ._-;.La'dl.-»lf {2.2) 21(0,0) & (D (1,0 0,1 (0,0)
o 77| Mid-point of points (2,2) and (0. 0)is: :
I ' i Y i s 73
b | LA ata JeiSe L ey <
I "1 Congruent figures have same: Length Area Median D‘?g""al
j : T2
i 'f - ;-'_,_.-5‘;:;/',1-4‘_.! 01|+
14 . I-by--2 2-bv=3 I=by-3 3=by -1
. Orderaf transpose of {
B QAL (x4 A )Ex+3p) | (x—Ay)Sx=3y) | (x=dp)(Sx+3p) [(Sx—dy)(x+3y)
§ Factars of 3x° — L 721 —121 are:

10-122-A-36700
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Jiathematics (Science Group) §.5.C (9™)-A-2022 ( ,fu* WG,
Time- : 2:10 Hours Group : 1 Paper (1) >4 Lt &0 :' =3y
Mearks =80 Subjective U LT 60: A

_c_d/lJ €)) /J'ruaéulliﬁu:"rpf c_d:(c_(ﬂ('ra’-q_dzll (1 u)’

Natei= Section B is compulsary., Attempt any three (3) questions from Seetion C bul question No.9 is compulsory.

* SECTION-8 I
2. Wrile short answers to any six parts. (6x2=12) _éi’(//’..:Ui./'}L,lz'l{aaf 9
i Deline Scalar Matrix. ) ' é..uﬁgf._)(;):c i
g r : T .
TR L ;’() : l’.then verify ,’l’,| 2 . : (/f')'-*:/! fé&'ﬂ?n,i-:{' 2]/'1 ii
L J ' ' : T 0 .

9% 0 pug=2 é,uad‘qj’foz3-ozmzs.,: il

il Express 0.23=0.232323. in the form —‘Z-}-.wh'ere p.q€Zand (/:l)
(I .

v Simplify, ‘ (-"3): #aF . ‘ ' _éﬁ" :iv
¢ Express 0.0074 in scientific notation. ‘ - 2e s 000ma "
Vi, Evaluale. log3=log,25 " . ek
vii. Why 2417 is not a surd? ‘ ‘e lud a2+ T i
vii M e+ bh=10and u—h:ﬁ then ﬂndlhevalueofa +bY Z -fJa +b*Iyva-b= 6ula+b—]0f' .vilij
ix.  Faclorize, g 120% = 36x+27 . ' é'.:(j/’ dx
3. Write short answers ro\jy sIx parts. (6x2=12) _ : :é//’..«u:’/é_.l/!ic_(}f' 3
1 Find H.C.F. 1023°z, 8533 vz, 187xyz® c{r'”" Pk
1. Define Equivalen! Equations, @ é‘lr_a'/'du/b{/..ul/~ i
i Solve. ' r+s|=t @@ A
v What is difference between abscissa and or,dinatc’? O S ST Ll v
Vo (:7 C +32%and (7 =10"then find | {&% S i O =10 P =§ c'+32°f1 v

vii.  Find the dislance between (0.() anc {-4 c-(*” L’b()lmd.—( =3) 1 (0,0) i
e Ve (SASZSAS) L= (j./_u’ viii
_é:’-:'r}‘"u:j-(jy' sm® ix

vi.  Find the mid-point beiween two points A(-§ @ _:.,( Tl ydb,,v;k:,, Vi
__,)

viii  Whatis meantby S.A $z8.4.587

ix. Find the values of m: and 1 .

é//utli/é,l/liadf 4

4. Write short answers to

. Defina right bisector 0 ne segment, “ A~ EJ,“J‘.‘JLU:/LP Ri
ii.  Verify that 3cm, dcm and 5cm are lengths of the sides -u;‘g,ﬂ_;l/d(’,u«'*r[.a} (j Scm sl 4cm facmféd,« i

of a triangle.
. ! P LI 7 d T
it Cafine Proportion. N .cir..;_‘,"tf.,/l; il

_éﬂ"'c‘/gdx v
X Bﬁcm

Tem

i Find !he value of x.

Verify that a = 1.3¢em . b =2cmand ¢ =2.5em .t}.’d(ji“ﬁyz:l)lijﬁ c=2.5cm b =2cma=15cm fé'f.fd.,.-i v
are sides of a right angled triangle. :
vi.  Define Ailitude of a Triangle.

_aéq',ﬁdbb?}:.{.;.t? Vi
-érkj/ i

Vi Find the area.

4 - . . 2
Befine QOrthocenter of the Triangle. . -3-:-3’/’(,{//.(5;:’4:.’-)" Vil
Consitrucl a AABC in which: mAB =3, 2em, mBC = 4. lcm mCA =S.3em ! WS bk ABC &F i

(turn over  Zidm



| Paper :1I
Time
Marks

------------------------ L

Group : I
! 20 Minutes

Objective ‘a‘ s

(Iv)

: 16

PaperCode |5 |1 (9] 7

Uf!,’:s,'a);

S l~-Qi-Yy

-l A -t

I: 44
220 &M
15:

-&)/acﬁg///b’;}b&%f ..J:....J:?:/)Jc.;_ﬂ-'u;/’b{%)&‘/édb’/;/"dﬂélﬁ-wié—)D # C.B,A n."—l_'lﬁ..'fzgﬁdlr‘/; ~1y
WP TN S-S YRS BV S T (W TP

Note: ~You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /=y A B C D
nsislog, x log, x log, z log, x log, y
1. Tme o Tre - T T
log, x will be equal to: log, z log, z log, y log, x
A pa7I L8 27y
2. (2x+3y),(4x’+9y') (2x—3y),(4x’-—9y’) (2x+3y),(4x’—6xv+9y’) (2x-3p),(4x* +6xy+9y*)
Factors of 8x’ + 27" are:
e+ x—6 sl x =2 UM
3. 4,/’” R x*+x-6 x+3 x—2 x+2
H.C.Fof x—2and x" +x--6is:
e Llowspkat —b* sla® + b
4. (: \ P a*+b a’-b* a*-b a-b
L.C.Mof a°+b"and a” —b"is:
& M3k (0, 1) 11 (1,0) 4
5. | Distance between the points (1, 0) and 0 1 < 42 2
0,1 is: <Q
: < o O
111 —4x <11 bl 2 el U ;A%
nJ¥3-4x <11 eble Frulife Uiy S " S o
6. YVhich ?f the given is the solution of the -8 <§? -2 "Z aiie of theise
inequality3-4x <117 < ((71
edsyIny=2x+1,x=2/1 \}b
7, . @ 3 4 5
fy=2x+1,x=2then y is: @
Voot Sl s o L3 85 7 59 () @ OV
,4,_[7;1(2[;/, 3 b el ($orf e )
8. N
A point equidistant from the erd\psints bisector right bisector perpendicular median
of a line segment is on its:
g’u:oﬂd_ fc.,/»u_(l.;.f.—lko:.{_d/&
oAy e
9. u 41 311 21 11
The medians of a triangle cut each other
in the ratio:
,4——;))5’{2 1} \-/’t’.
10. 2-by—1 I-by-2 1-by—1 2-by-2
The order of matrix {2 1} is:
AP
11. . - 1 -1 i —i
The value of i’ is:
AL YT 4
2. ] e 2-by—-2 I-by-2 2-Bp=] 3—fy—2
Which is order of a square matrix?
e g flog, a x log, b
13. log, ¢ log, a log, b log, c
log, a x log, b can be written as:
. o B A A o8 ] A
’ Every real number is a: positive integer rational number negative integer complex number
a*-b*
P P .
15. & —p? i (a—b) (a+b)2 (a +b) (a—b)
is equal to:
a+

v pom

09-121-A-34000
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" Mathematics (Science Group) $.8.C (Part-1)-A-2021 - (4 S0 gL
Time : 2:10 Hours Group : 1 Paper (D 24 Ug;:-,«:f 100

Marks : 60 subjective 8¢ €W vGledy 60:

-ﬁ;d]ﬂ(g)ﬁzdb’d-@g&l_’lﬁZ.U_J!rcfc.éfc—‘ﬂp)y-gd}lld:!,—"h.‘a]
Note:~ Section I is compulsory. Attempt any three (3) questions from Section I but question No.9 is compulsory.

(Section—1I Jil =)

K - -
2. Write short answers to any Six parts. (6x2=12) E M AL 2

i.  Find the transpose of matrix. B=[5 1 - 6] déifr:"’bé)l/‘bf&)b‘ i

1 3 .

ii. Find the determinant of matrix. B= \:2 B 2} ,ér:"’(’fyb’JG i
ii.  Express as rational number. 013 -éﬂwdﬁ;ul[)"b i
iv. Evaluate. - ("l')g | . ,&é()”.;fé v

_v. Find the value of x. log,x=4 ,2’,-{‘»}”..;26 X W
(22)"
vi.  Write into sum or difference. log——s?’i— ,é’u:‘f’dd)ga,/-z,/}s’) Vi
vii.  Simplify. 2(5\/3 -3V5 ) £ i
2 LA I
viii.  Rationalize the denominator. NN A

ix. Factorize. 3x°y(x-3y)- 7x*y* (x—3y) <(§/® ,édj Ax
& _é,; /’.-J,:z/i’&,mu,c,éf -
WS A AP IR~ Ax =125 +5x+6UF

3. Write short answers to any Six parts. (6x2=12%

i Find the H.C.F of the expressions x” + 5x + 6 and

x% — 4x —12 by factorization.

5
ii. Solve the equation. » XF ”5 -éd’.:«ub' i
ii.  Find the value of x. & lx+21—3:5-\x+2‘ ,éir()”:/fdx il
iv. Find the values of mand ¢ 'veh line 3x+ y=1=0by m »sz;/ﬁu'u:’y =mx+ci3x+ y=l= 0eblr v
expressing it in the form y = mx+c . _Zfr}"uf’fdc 2l

v. Verify that the given point (0, 0) lies on the line 2x—y+1=0 s L,.z,:,ls,b/, 2x-y+1=04(0,0) ﬁ_u‘g,/éd_ﬁ v

or not? .
vi. Find the distance between pair of points. A(O, 0), B(O,~ 5) -éér}”}ﬂtén(/.':l{pjﬂl_)(ﬂ Vi
vii.  Find the midpoint between pair of points. A(6, 6),3(47' 2) ,aé(;*‘.a;fawvuxém Vi
viil. If AABC=ALMN, then: jn AABC=ALMN, /1 i
@ MLM = .ocvviinene A - — @
D) BEN B cwsvonisin LN 2 csesorres @)
ix. The given figure LMNP is a 7 ool ,q,f/lf'ﬂi(jjli‘..fl LMNP Lﬂﬂf{;d: JiX
parallelogram. Find m and n. 4"""” 10 -Z:"(-}”u?fdn slim
A T TR
4. Write short answers to any Six parts. (6x2=12) ' _é._/ F g & L»l%lga(}f A4
i.  Inthe given congruent triangles LMO P s LNO o LMO uCﬁ‘J‘L?(}fd; A
and LNQO , find the unknowns xand n . hnk " ,a’::r-}”u./liajm 2l x
MA AN

1A A / o (Torm Over 15,



Vi.

vii.

viii.

5.(a)

(]

6.(a)

()]

7.

()

8.(2)

O]

-~ ’ SwL-4 =2\

,4,L~'n/¢6w35“’ A0 )vuzuéawl;,éy‘” (A 0.45 JUnsem sit2em A3cm oL SN
{f 13cm, 12cm and 5cm are the leng‘ths ofa triangle, then verify that difference of measures of two sides of a triangle is
e Sa - .

less than the measuré of the third side.

Define Proportion. Ey Sk
Aoyt g
Find the unknown yalue in the given figure. ) 10cm . '.-'r}”'d‘j(}”bu:;}"éﬂd;
cnt
X

,+¢slil;-’tf.y‘>/&;:mt‘_ul o =16em,b=30cm,c =34cm uwéwu’,@f’énu,

Verify that the triangle having the given measures of sides is a right angled triangle. a= 16¢cm,b =30cm,c = 34cm

WY -
Define Rectangular Region. -cé.g Vel 64 ;&
Find the area of the given figure. gér?’,}'ﬂd”&nd;

4em
Define Circumeentre. WYY 1
Construct a AABC , in which: mAB = 3cm, mAC =3.2cm, m/A=45 S e ABC g

Section — 11 C».W
(4+4=8) S C) /dtwg A Ld! y Fslzlatiret Y
Attempt any thre@ questions. Each question carries Eight marks but que 5.9'is compulsory (4+4=8)

0 2 .
Use Cramer's rule to solve the linear equation if possible. O @ ,nuaﬂéd’fu?uv(,méuilié/f

Simplify. &P
Use log table to solve it. —(E—Q—Q\;—-‘l—:—g—gg-s—)i ,ZEJ’ omédmﬁ? &)
If x=%,then find the values of x—%—éand x> +—;17 ,ér}”uf’}éxz +—£§- 2l x+-1;;y! x=%—ﬁ
Factorize. 2% +14x+48 EGF
Simplify. ——f———”xzx: i; 5 ———’x:2+_%::1224 Wy
Solve. 5%32”‘:1"% A
Construct APQR and draw its altitudes from the given data. ,4;! (Cl’a'}';l),/ Linét APQR PN S

WRP =3.6cm, m£Q=30", m£P =105°

Prove that any point on the right bisector of a line segment is Lﬁﬁﬁu]!léb,gwb(j:fé—ﬁ;ﬁufﬂvgﬁfaéab

equidistant from its end points. A sl s
OR L
Prove that any point on the bisector of an angle is -+Vnled:V¢UE;JLLJ 159 ..Q ﬁz,wbz.’,ér:l)u’( i Z‘-E:z.t“

equidistant from its arms.
09-121-A-34000

v

Vi

il

viii

(a)-5

(b

(a).6

(b)

@).7

()

(a)-8

()

-9




Paper : 1 l/»:.,,af I:

Group : IT Objective o‘ ;-/’ 24
Time : 20 Minutes Iv) & 20 &b
Marks : 15 PaperCode |5 |1 (9] 8 | §y=§2-2 15: 4

S e Pl IM b L treena S e Edir 113882l esD 4 CBA MR Ly g =k

_{n»‘.’wb’alﬁu:&u‘fou‘ JLI{/LKLL/{!UJ/’D»LJ&»{I

Note: -You have four choices for sach objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up twoor more circles will result no mark.

Q.1 Questions /=1y A B C D
bt aa L 1ot ik o SO AF 4 A Ll
1. | The product of two algebraic expressions is equal . . .
sum difference quotient product
to the of their H.C.F and L.C.M.
(8 190° ot ¥ F 7L . N g i e
2. | A quadrilateral having each angle equal to 90° is
Parallelogram Rectangle Trapezium Rhombus
called:
S SUIL LY J¥59a" —12ab
3. | What will be added to complete the square of ~16a’ _161)2 4p* —4b*
9a* —12ab ?
ksl 1600 whicnls ‘¢ 1S Bl aided L
4. | If the capacity “c” of an elevator is at most 1600 ¢ <1600 ¢ >1600 ¢ <1600 ¢>1600
pounds, then: ' P
7
. L2, -3) B C@fl\%) B
" | Points (2,-3) lies in quadrant: 1 1 . -
,UZL/Cf’Uf-Jd fp/»vflgi,lb;l_df" O@& )
6. 31 241 111
The medians of a triangle cut each other in the ratio: {\(@
e Jrosbak 30xyz, 45xy, 155 @\}V ) ,
7. , ' @ 90xyz 90x*yz 15xyz 15x° yz
L.C.Mof 15x°, 45xy, 30xyz is: A A ,
bZ
N ’ b 2 2
8. | 2 _p? { k (a-b) (a+b) a+b a-b
is equal to:
a+b
- BBk (2,2) 4 (0,0 465 \
9. ™, (1,0 0,1 (-1,-1
Mid-point of the points (2, 2) and (0, 0) is:
te sl /—M;'l{ “q" /,uuuf
10. 1 10 e 0
The logarithm of unity to any base is:
W flog, a x log, b '
1. log,c log, a log, b log, c
log, a x log, b can be written as:
_4_1@?K2ab(i+i2)/u»a¥j
12. - 2ab —2ab 2abi —2abi
Real part of 2ab (1 +1i )is:
to S wcr bl SheaUF [
13. | Which of the given sets have the closure property {O} {0’_ 1} {0,1} LL\E’E}
w.r.t addition? ‘
2 0
bl A i .
| - 0 2 8 # Bl b
" | r =
N2 0} , zero scalar unit singular
is called matrix.
0 V2
?c’,b’._}ﬁ(?{/;{l;q»(/'f ’
15. 2-by-2 1-by~2 2—-by-1 3-by-2
Which is order of a square matrix?
10-121-A-3$000 ' & & & ¢
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Mathematics (Science Group)

Time

: 2:10 Hours Group : I

Marks : 60

RollNo.| | | | | | |\«spiby

$.5.C (Part-¢A-2021 (oo SV S
Paper (D 24 f /»:.;;/ E10: =y

.

Subjective (O M 60: A

e GO AU ez Lyt Y. e S )

Note:~ Section I is compulsory. Attempt any three (3) questions from Section IT but question No.9 is compulsory.

2.

vi.

Vii.

viii.

Vi.
vii.

viii.

Write short answers to any Six parts.

Verity thatif B=| "~ 1| th (B') =B
erify that if B = ,then =
20

(Section—I J31.2)
(6x2=12) E g B L g 37 2

' (B‘)I:B/éd.ﬂi_Bz{lz (ﬂf; i

1 3
Find the multiplicative inverse (if it exist) D=2 4 _(irda/!)ér}"'df’d/b’d(i i
) ) 2/
Simplify. 25x1" ™ E2 i
Express the recurring decimal 0.5 as the rationat ,Q,Jé‘q =0 p,q ,Qgi:ﬂu,-u: 2 ,,,[j(;;’ 067 ,,.45,1/7 v
number £ where p,q are integerandg # 0. 1
Express in ordinary notation. 5.06x%10"° ,c’;‘duﬁ(}]rb v
Find the value of x log, 64 =2 ,ér)”.-/fd x i

Simplify.

Express in the simplest form.

x+7

(x*-49). ox+2 @@ 2 i
&

15/96x5y7z“0 % LrPuiF i
Use the remainder theorem to find the remainder z (% + 2) %’ -3x* +4x-14 .,eéirr}"é@cwd&)’/ Jix

when x° —3x* + 4x —14 is divided by(x + 2) . %S
;6

Write short answers to any Six parts.
Using factorization to find square root

Solve the equation.

Find the value of x.

Write x—2y =-2in the form y = mx +c.
Draw the graph of y =3x

Find the mid-point between pair of points.

Find the distance between the pair of points.

Find the values of unknown x and mi for

the given congruent triangles.

if ABCD is a parallelogram, find x

and m.

Write short answers to any Six parts.

If the given triangle ABC is equilateral triangle

and AD is bisector of an angle 4, then find the

values of unknown x°,y° and z°.

P
x2=12) B FELange 3
O
4x* —-12xy +9y° _éir()”é/wgd)?;_u,; i
Y2x+3 =Yu2 4 T
x+5 .
g = 6 A x i

-éuida(fy=mx+cfx—2y:—2 iV
_.g’__b,alfb’y =3x w
A(=4,9), B(-4,-3) Ee ket LS i
4(0,0),B(0,~5) o bl Qend e 37 LB i
Al xmm eSS i
Epp

(5x+8)”

B 5m-3 D ym+s €
SarSm ol xInl i KL ABCD /1 ix
Eep

E M ALz 4
A 6 AD Ut ABC & Lpeligols i

-ér}" 22y X" P bl

(Turn Over q!fdu)_




vi.

vii.

viii.

iX.

5.(a)

(b)

6.(a)

(b)

7.(@

(b)

8.(a)

()

~ ¢ Swl-G)UY
_i:uli::.c}f:_uluf:uyu&c#l[—y& 7cm sl 4cm 3cm

3cm, 4cm and 7cm are not the léngths of the triangle. Give the reason.

Define Similar Trlanjles' IR -éq/"dut@‘,i‘/"
Verify that the A having the measure of a=5cm, b=12cm, c=13cm _uzo’u,uwdw./_y
sides is a right-angled trlangle ,4;.,;0!:’-”!‘:'&""’55(1»7
Find the unknown value of x m the figure. . -Zé(;"-”ogéxr,‘”l;uiy
cm x
3cm
Define Altitude or Height of a tr{angle. -é_a,u“écw,w.&
Find the area of the figure. -zé(}”,ﬁ)b’g}&
\ 4cm
Constructa A4BC, in which: | mAB =3cm, mAC =3.2cm, m£A=45° ViS b ABC &
Define Point of Concurrency. x _éqﬂéﬂﬂ

Section - II l’”""’

 @ea=®) g6 At ALy sl LcMir 07

Attempt any three questnons Each question carries Eight marks but quesﬂ@@ is compulsory  (4+4=8)

%= 2}’ 4 % ,éd’é:»‘dd’g’é&f’u

Solve by the matrix inversion method.

Simplify. EF
Use log table to find the valueéof: @76 x 13.64 -ér)”_—wéaw&)w(;ﬁ’)
If m+n+p=10and mn+np+mp= érf find the in mn+np+mp=27 m+n+p=lO/l
value of m> +n* + p*. _z’-.{(}”ygdﬁ +n’ +p?
Factorize. ' 8x* +60x* +150x +125 o7
. i LT
Find square root. X {x i ;} -3 4[)‘7 ";] (x#0) _Zé()’/d/b}g
Solve the equation. : x22—1 3 :] = . il , x#%l _éd'f_-,w
Construct AXYZ and draw |ts medians. -”{'-{g;u/,.{,w sl EAXYZ
mXY =4.5cm, mYZ =3.4cm, mZX =5.6cm
Prove that any point on the bi:sector of an angle is ‘4——b'ﬂyw’(5)l\/¢ujJJLLJ'JﬁVQﬂI,J"[;Lé—}UL{féGAE

equidistant from its arms.

OR L
Prove that any point on the ribht bisector of a line segmentis b%;l*’,bf’u]ndb/,wbd;féﬁwujﬂvﬁﬁfzéab
equidistant from its end points. A L

10-121-A-33000

i

i

viii

(a)-5

(b)

(a)-6

(b)

(-7

(o)

(a).-8

b

-9
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-2 Roll No. Swi Annual}.DQ
Mathematics ( Sclence Group ) VoK T e SkE) (IV) (I &
Paper:I (Group:I) Objective (155 ( v:/lb,;) I:2¢

Time : 20 Minutes
Marks : 156

Code : 5987 &*r 20 =Dy

\/
Q7
\ 16 7
% -,/.-_u_c;)im;u:.wd L.,r'ly»f_Ju:;béé:&b&d'rﬁ{dﬂ}‘z -u_?tf{.) Ds C B AL 'zj;k&dfrﬁ O
Note:- You have four choices for each objective type question as A, B, C and D. -fnlr‘-'w.(‘ﬁuﬁgﬁau‘JL/J& b’y'_/.{fu:/’bupc._{'
The choice which you think is correct, fili that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two

or more clrcles will result in zero mark In that question.

1. 1. The point P(2,0) jies on

xand y—axis 4 Y X () Z-axis sz

2. Mid point of the points (2,-2)and (-2,2)is
1.1 (D) (0.0) (©)

-~

3. Symbol = isusedto
congruent é;,(fb"-‘ (D) similarto &3 (C)
4, Diagonal of a parallelogram divides

the parallelogram into two triangles.

concurrent L 4 (D) congruent J&  (C) nonparallel i 2

5. The bisectors of the angles of a triangle are
parallel ($J1# (D) congruent J‘u‘—' C)
8 Which one of the following has no unit?
width  Jizg (D)

7. The

ratio a’J__f-—"
-q_rfﬂ? JA u;‘c'

<&
ratio <= (C) @» dv (B

altitudes of an isosceles triangle are @1&@!. -u_rZ.._nJ‘LF‘ L L ads ut"' VIgiLs 7
(C)

o PO 5,

©) y—axis #Y (8) X — axis /)'x(A)

e B On¥ (2,204 (2 ,-2)48 2

-2 ,-2) (B) (2.2 (A)
-{_Jx Je1 e =3

(B) proportion #.,/l-: (A)
wel L3 ¥ Lww > -4

(B) parallel (17 (A)
B ot Loy Latt g

concurrent <Q) (8) equal sz (A)

©

GorB61 348 Ve S5 g

volume £ (A)

3 (8) 2 (A)

5 (D) 4@
g. Altitude of a triangle means perpendicuiar-.at'n.luu Uast .fd" HEse LN E el u’r _8

<&

to the opposite side.

centre Jr (D) oint &5 s
2
9 Broduct of [x y] -1
x+2y (D) 2x~y (©)
10. Which of the following sets has the closure property
w.r.t addition?
1
{l"ﬁ'i} (D) {0.1} (C)
11. log,axlog b canbe written as
log, ¢ (D) log, b ©
12. Factors of a* —4b" are
(a® =2b%)(a® +2b%) (B)
(a—-b)(a® +2b*) (D)
13. The degree of the polynomial x*)* +3xy+ )" s
4 (D) 3 (©)
o, 1 2
14. The square rootof *~ +;7+ is
2_ 1 _1
- Tx=) ©)

15. If X is no larger than 10, then
x=8 (D) x>10 (©)

(C) side & (B) vertex UL (A)
2
-q.z’/.[x y] [_1] S -9
x-2y (B) 2x+y (A)
¢ ..;.Jb KU el & b or of -10
{0,-1} ®) {0} (A)
-etb W log,axlog. b _11
log, a (8) log,.e (A
LA e L at -4bt 12
(a-b)(a+b)a®+4b?) (A)
(a=-b)a+b)a*—-4b?) (©)
e € XY 43+ Y G 13
2 (8) 1 (A)
1
e BN ¥ x‘+;;+2 -4
2. 1 1
+(x +7) ®) :i:(x+-;) A)

Insidze10edd X 15
x<10 (8 x=<10 (A)
9-119 -44100 AW



Roll No. _¢_ ; C(}“Z/‘ Annu

Mathematics (Sclence Group) ( fgﬂb’ I .wgd/ﬁ?) (,—:fu""V) N
Paper: I (Group:1I) ( 7.«/11;;)
Time: 2: 10 Hours Subjective W) & 2:10:5
Marks : 60 60:

-eJi( 9 ) d”lf-aéewzéuﬂrd- e(jfa.gﬁru.b =W e 1
Note :- Section | is compulsory. Attempt any three questions from Section II but question
No.9 is compulsory,

Section I Jil o

2. Write short answers to any Six parts : (6x2=12) :é{fw&lx/ﬂénlzl{:-(jf -2
i. Define row matrix with an example. FES S e T
i, |sthe given matrix singular or non singular D= [_52 _;0] Wt L e 6 st I it 1 S i
iii, Simplify \ 532" : \ % -E 2
iv. Define a complex number, Ew ) A \fﬂf v
V. Evaluate log, I%i - A -V
vi. Express in ordinary notation 9.018 x107° & 9 (.;} e -vi
23 a 2.3 _c_4
vii. Evaluate )-Jlx“y—ZSZ_ for x=4,y=-2,z=-] -ﬁél’)”-"z‘; ijrzsz— ~vil
viii. If x—£=4then find ,\-’—;13.. e 'Jx’--;ls- . x—%=4,ﬂ-vm
ix. Factorize it 27x° +64 )° - SF Lix
3. Write short answers to any Six parts : & {&%912 ) -2.'::».-4&/&»21;;-8; -3
i. Define least common muitiple (L.C.M). @% S S P i
ji. Solve the equation. \/m—7=0 -’4‘-: S Seb i
iii. Solve [x+2|-3=5-|x+2| S i

iv. Find the values of mand ¢

-Z:rr)l"gc:'} JCJJ' ML e Yy=mi+cef oy .2x—-y=T7 _jy
by expressing the line 2X 7 inthe formof Y=mx+c

v. Verify whether the point ) lies on the line - & &q.g': z 2x—y+1=0 Q2,55 S EFA v

2x=y+1=0 o not,

vi. Find the distance between the pair of points A(~4,~/§),B(—4.—3) -21:(:"‘ Aot Y Lusizl s &L s vi
- 5 Qs K 8 Lo Ee BG,-6) , A2,-6) .5, _yi

vii. Find the mid-point of the line segment joining =~ 4(2,—6)and B(3,-6)

vii. Define ray. 2w S i
ix. Define parallelogram. “FEopS S g -ix
4 Write short answers to any six parts : (6x2=12) -é‘vwitb‘wﬁ»mgc-d/ -4
i. Define right bisector of a line segment. v St L S
4cm, 3 cm, 5¢cm ..ufgq_u'; bde albe S tun £ ait J SEE 2oy -l
ii. Explain that the given lengths can be the sides of a triangle or not. 4 cm, 3 cm, S5cm
iii. Define proportion. -&’.4/7 J.,/(i ~iii
iv. State converse of pythagoras theorem. ) -éw&t-#/" & kfg -iv
v. Verify that the triangle having following sides is a gl i NntG 2k Sy uF U Lt S5 B SEJE v
right - angled. a=1.5cm , b=2cm .c= 25cm a=15cm , 6 b=2cm ,c= 25cm

(Turn Over)
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vi.

Vii,

viii,

?_(.

Note:

S5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

(2)

Find the area of the given figure Beewn . gk ¥ F G -vi
3
o
Define triangular region. - E P S i
Construct aABC in which mAB =4.2cm ,m-l-i'? =39cm, mCA =3.6¢cm U &k ABC & Lviii
Define circumcentre of triangle. Eo) $ Lo Lats lix

Section - I1 'r»,..‘o
e @) A E (A (®) 2T L Yoz lctrdadS o)

Attempt any three questions. Each question carries Eight (8) marks but question

number 9 is compuisory.

Solve by Cramer's rule. 2x-2p=4,;3x+2y=6 S a S U A (a)-5
Simplify - A~ ()
Prove that JzEo e (a)-6

% babc+ca=3 , o +b+ct=43 f (b)

gl +b° +c*=43and ab+bc+ca=3

A\
then find the value of a+b+¢ @ i arorcin
+

Factorize @ 36y Y /- (a)-7
&

Use division method to find the sq t x4 =10x" +37x% = 60x +36  _ Lo B S L (d)
x—=3 x=2 -1

Solve the equation 3 @R\ S =hl ()-8

Construct 2A4ABC and draw bisectors of its angles. -g?.r et Luysls £1 .9 & ABC 2 (b)

mAB = 3.6cm mBC =4 2cnismLB =175

Prove that any point _Enlts 4iosSt S B ss eI Sstra sl Bk f' s L N szl -9

equidistant from the end points of a line segment is on the right bisector of it.
OR b
Prove that parallelograms on equal -u_.'Jn Arfeds JB Lusiias Julusa sz s (‘3': P S et

bases and having the same ( or equal) altitude are equal in area.
9 - 119 - 44100
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P Roll No. Sl Annual 2073,
Mathematics ( Science Group ) ( ,{{ﬂf ¢TI GLskE) (IT) (..,«:fu""l/) 6L
Paper :I (Group:II) Objective ((%*) Corl 1) T:gg
Time : 20 Minutes Code : 5984 @ 200 &
Marks : 15 15 /7

G S PLIANA I L i e SN s L i g 362 Ll D C, B A =t 12800 & Jivys i
-(n/ﬁwylznzﬁgjb/ﬂ{'&/‘éféfgﬁ_J:éfu:)'ln:g};._{l
Note:- You have four choices for each objective lype questlion as A, B, C and D. The choice which you think Is correct, fill that
circle in front of that question number. Use marker or pen to fill the circles. Cutting or fllling two or more circles will
result in zero mark in that question.

1. 1 A point equidistant from &t En <. L ot Ulas § ndetll Grloa sy £ W L8 ¢ 21 -

- the end points of a line segment is on its

median_k-s (D) perpendicular »»¢ (C) right bisector it §ss¥ (B) bisector sl (A) .
2. If the length and width of a rectangle are "a" and "b" ¥ » 3 €17 » b $12z o a U & < N2

then -its area will be

a+b O  axb (C) a=b (B) a+b (A)

3. Aline segmenthas mid point/ paints - O S B waw g -3
4 (D) 3 (©) 2 (8) 1 A)

4. Theright bisector of the sides of a triangle are B Lot Sl ke Jadn U/ -4
concurrent i (" (D) congruent J‘U" (C) equal sz (B) collinear i (A)

5. Inaparallelogram, opposite angles are :__:U S ZE g .5
parallel JJi# (D) non congruent Ju #  (C) congruent S (87" concurrent &5 A& (A)

6. Inatriangle, there can be right angle /angles. OUEEEA &atli | 11356 S 2t g -6

- (©) 3 (©) 0&% (8) 1 A)

7. Aline segment has end points @ ) Sl Ty Ll L .7
4 (D) 3 K@% 2 (8) 1 (A)

e er ¥ |[x-4=-4 8

8. The solution set of | X —4|=—-4 g @
-8 ©) .18 CMe {} (®) 4 (A)

st B Ly (-3.-3) & 9
(©) II (B) I (A
Lo Piowsss ¥ at bt at+b' 10

9. Point (-3 , -3) lies in quadrant
IV (D)

10. LCMof a’+b* and a' =h'is

a-b (D) a* - b (©) a’ —b’ (®) at+b (A
11. Factorsof 3x°=x—-2 are AL L 3xt—x-2 _11
(x=1),3x+2) (DY (x-1),(3x~2) () (x+1),3x+2) (B) (x+1),3x-2) (A)
1 1 1 1
12. ,_p a+b Isequalto e A gudh a+dh 12
-2b -2a 2b 2ua
a* - b’ (©) a’ -b? ©) g -p B a®-b* (A)
13. The logarithm of unity to any base is -g boisls Zb’:’ e oqm ¢ v uj -13
e (D) 10 (C) 1 (B) 0 (A)
14, The symbol " for all " is g ke "2.5’ ru n 14
== 4. («© v (B8) A A)
V2 0 J2 0
15. | 0 2| iscalled matrix. et TS| J3| -8
singular  »t (D) scalar A% (C) unit Gw: (8) zero A (A)

10 - 119 - 38000 W




Roll No. kw l/ Annual

Mathematics (.SclenceGroup) ( {Jw’ ¢ I.:agdd:?) (.,.,fwv) ()
.Paper: I (Group:II) (.'af ) I o4
Time: 2 : 10 Hours Subjective W) & 2:10:3
Marks : 60 60: /

e I 9) A L ke Ya fnie - SV 2o : &S
Note :- Section | Is compulsory. Attempt any throo questions from Section II but question
No.9 Is compulsory.

Section 1 ‘leﬁ'

2. Write short answers to any Six parts : : (6x2=12) :zC(i.:.uz/*&czwe_J/ -2
i I A=|i_31 g} and B’[g] then find AB e S s 7B 2 o A= jl g]/' i
ii. Define square matrix with an example. L& e s ] S8 G il
jii. Represent the number 2%on number line. | e WL S AT 2% sse il

iv. Simplify 57 +(5%) - Ay
V. Express 0.0000000035 in scientific notation. & d s s £0.0000000035 -V

Vi. Express 2logx—3 10g ¥ in the form of a single logarithm. IR Jﬂ() wiy f 2logx=3logy _yi
g i S log30 7 log2=0.3010,log3=0.4771,log5 = 0.6990 /i _vii

vii. f log2=0.3010,log3=0.4771,10g 5 = 0.6990 then find the value®83o
y—2

viii. Evaluate ——;z—— for x=3,y=-1, z=-2 x=3 2 figpr i —— x y viil
ix. Factorize 1253‘ %2 -J $F -ix
3. Write short answers to any Six parts : =12) -’Z,::.:»V.z/’&»lzq:_éf -3
i. Find H.C.F of %@Z and 91x°y°z’ gk M i
ii. Solve the equation Jx=-3-7=0 S ene i
ii. Define radical equation and give ﬁ@ SEJlLl s Ze S S Sok il

iv. Define abscissa and ordinate. -’4.:_4/7 SazbT sl Lett Liv
éﬂ”u‘-‘zu('c‘ s CLUESS y=mate S 2x=y=T 2ne v

v. Find the value of 'm' and 'c’ by expressing line2X =Y =7 intheform V=" +c

"vi. Find the midpoint between pairs of the points A(2,-6),B(3,-6) S Qs € Uslz £ 56 i
vii. Define collinear points. )/ She 4 -vil
viii. State S.8.S = S.S.S postulate. -z.’.'ug‘ wrr oSS = S = Vil
iX. In the given parallelogram ABCD, find the value of x and m-{:r}“ ed m »x U5 ABCD L ueui it ofd: -ix
= o q,.L 0] Q] p- c
| /[g*‘* © Call ob
°
L/\" 58
A Ic A
4. Write short answers to any six parts : (6x2=12) -2:.:4&/’&'2‘{6—3./ -4
i. Define bisector of the angle. WAL et Los i
ii. pefine quadrilateral. 2EwS S Sy i
iii. pefine congruent triangles. -éuy/’ JcJCf’ gfb'*‘ -

iv. Verifythat .g gillizfe &l S Jud. g @=9cm , b=12cm, c= ISem  Jpuf gunladts v

the triangle having the measure of sides 8 = 9ecm , b=12cm , ¢= 15cm s right angled.

v. Define pythagoras theorem. -"f;clk et b £ v
vi. Define altitude of parallelogram. 2z SEus L Lusuins® wvi

N (Turn Over)



vii.

Viii,

ix.

Note:

§.(a)

(b)

6.(a)
(b)

7.(a)
(b)

8.(a)

(b)

" Any point on the right bise

g&\/ 2)

Find area of the given figure. oL t‘)"'-’./ ¢ c.Pdr s Vi

—] 3cwva.
- LA .
Define incentre of triangle. € P $ L bt £ sl i
Construct a XYZ m YZ =7.6cm, mXY = 6.1cm and mLX =90° “&-be XYZaL Lix

Section - IT () >
-8 AInE (2 (8) 2T Ly ) BorahizLoatimba ) w)

Attempt any three questions. Each question carries Eight (8) marks but question

number 9 is compulsory. .
4x+y=9 -

Use Cramer's Rule to solve the equations 3 s ,"{J,-_;y_‘)gfg/ SUPs- (@)<5
—-3x - y = — *

al/ a!m azn
Slmplify alq-m amon anol _é}ﬂ (b)

(8.97)° x (3.95)°

Use log table to find the value of 537 -z_:(}".:..{":_,u‘fdwﬁb’i (a)-6
If X+y+z=12 gn4 x*+3*+2?=64 Fax'+y'+22=64 Ly x+y+z=12 J (b)
then find the value of XV + Vz +zx ppngy xv+yz4zx
Factorize xX*—a’+2a- @Q 25§ (a)-7
Use division method to find the square root of the expression %o e BJun w2 & i (D)
4x® +12xv+ 9% +16x + 24y +16 O%% 4x* +12xy+9y° +16x+24v+16
Solve the given inequality %@2—\ <1 ZES S e S8 (a)-8
Construct triangle PQR and draw altitudes @s. -Zéa"r o) »f L Lot L1 s &bk PQR 2 (b)
m RP = 3.6cm, mLQ =30",mLP = @ m RP =3.6¢cm, mLQ =30",mLP =105"
- IskeaUip Lisasd 5 ninllh g ot 6o Lis 85 50 S -9

line segment is equidistant from its end points. Prove it.

OR L
- - a3, .
Prove that triangles on equal base and -d’u.n L Jeds s Ut 2l Qs st e GL S u:J’ 4] fé.:a.e
of equal altitudes are equal in area.

10 - 119 - 38000
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RollNo. - ‘T 2.1 Annual 2018

Mathematics ( Science Group ) ( f;ﬂf I e—:&d:ﬁf) (III) (g!fcf.' V) N
Paper :I (Group:I) Objective (%) ( .r:/’li,;) E: 24
Time : 20 Minutes ) Code : 5985 <2 200 o
Marks : 15 *QEJ/' ,(/‘/" 9"/8 15

‘2;,4LQ§L£L:C/":JU’J,’W£.,Jﬁ.;ﬂ:cyf\):fbéé.)&Vﬁd'rz{(éb’g,_;l;? -SEL D4 C B AL Rl L g 22y
e 20 e S S Sk LS Fons e S
Note - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles will result in zero mark in that question.

1. 1. %0 is a solution of the inequality 2 5 erJL _ ane g x=0 1 _1
x-2<0 (D) x+2<0 (©) 3x+5<0 (B) x>0 gpf _
2. Point(-3 ,-3) lies in quadrant - LGLYF(3,-3) B b7
v (D) 1l 40) /4 (B) ! (A)
3. Mid point of the points (2,2 ) and (0,0)is - J:ﬁ[},l_m ¥ (2,2) »(0,0)s5 -3
-1.- (D (0.1) (©) (1.0) (B) (1.1) ¥~ - -
4

If two angles of triangle are congruent then the ~ B LSl el § Uil 5 L.-‘.if-(f( Ji 4
sides opposite to them are also

non parallel (%7 (D) opposite ¥ (C) congruent Sl 4B)  parallel S5 (A)

5  The of circle is on the right bisectors of — by gL S ‘4;5 [ K27 5
each of its chords @
- » O r'd
sector A& (D) diametre A N\R) @5 J, (B) centre J, (A)
6. Medians of triangle are @ Sl Lokt -6
parallel (5 (D) congruent J“J" equal 4 (B) concurrent 4 A /(A)

- aae B
7. Congruent triangles are - gl

<&

concurrent & /7 (D) diff < (C) parallel  (J# (B)  similar .5 (A)

8 Parallelograms on equal bas aving - wurds L5 JENERL St En oz Lis (k6 2z 8

the same ( or equal) altitude-in area are

similar .2 (D) congruent J‘U—‘ (C) equal = ! (5) un-equal uﬁf:'/. (A)
9. Aquadrilateral having each angle equalto 90" is calied -3 di < 5 90° 25 K Sy L\ -

rhombus ¢ (D) trapezium .3 (C) rectangle J:B/ ")) parallelogram (=i (A)

10. An Idea of matrices was given by b 5 KA -&,9‘
John Napier ' ot (D) AkKhawarzmi 4% (C) ‘Briggs % (B) Arthur Cayley &A@

11, In V35 . the radicand is ._q:_ﬁéj U!UE -1

('35);_ (D) 35 C) ?;' (B) 3 (A) )

12. The logarithm of unity to any base is equalto -‘atm'/.f;:b',’ 1l J( -12
0 (D) 'e (C) 10 (B) 1 (A)

13. The degree of polynomial 4x" +2x’y js e € A2y @ ¥ 43
4 (D) 3 (®) 2 -(B) 1 (A)

3 . 7
14 Find m sothatx” +4x+m is a complete square  _§Z byl JE X +4x4+m ﬁ_(.w.' S m 14

16 (D) 4 (C) -8 (B) 8 (A)
15 HCFof a + b and a’ —ab+b is _c‘_r"";;g § a'—ab+b® i a+b _15
a’ +b? (D) (a- by’ C) a -ab+b? (B) a+b (a)

9-118 - 44000 vy



Roll No.zq‘l (107 Annual 2018

Mathematics (Science Group) ( ,{{ﬂf «I..wgdlié) (u;d/(f.:l/) d' Ly
Paper: | ( Group:1) (.r:/ll;;) I 24

Time: 2 : 10 Hours Subjective W) & 2.0

Marks : 60 Q[')L”C“—q’”g ) 60 :
eI 9 )/,Ufmr-az:_".-,uzéuﬂnj.:_df:_u::(».a» Yt : od

Note :- Section | is compulsory. Attempt any three questions from Section Il but question

No.9 is compuisory.
Section | Jil.

2. Write short answers to any Six parts : (6x2=12) :é{/@&'ﬁ/ﬂﬁrlzlgc-ljf -2
i f C=[1 =1 2] thenfing  (=2)C g ((2)C 5, C=[1 -12] 5,
i Define rectangular matrix. -;’{'_’-(.é'/?;;( ) wa S

J3 .

i Simplify the radical expression 3 3—7 a.gu.‘Je e ,«f)/’ Jé,g/ i
V ~2 . - I .

w. Simplify [T~ and write it in the form of @-+bi_ @ platvbi oo Ti7 v
v. Expressthe number 0.00643 into scientific notation . &2 5L S 000843 o

x X .
vi. Findthevalueof X when L0g,8 =3 LO&JS‘:';-?i:d‘" =4 x i
(x+p) —4xy . )
"' Reduce the rational expression in the lowest form (x— ) - ..a”,:ﬁ-,;} A fla B -Vl
viii. Simplify V18 22 i
NEING) <>)

ix. Factorize x*=11x-42 @ A -ix

<&

3. Write short answers to any Six parts : ( ) -Zpaglz/‘?&,oztgc.éf -3
i FindLCMof 39x 'z ang  9Ix"y°z" @ Sl P ¢ 91X°%27 L, 39T
ii. Solve the equation @ =5 S i

- Define a linear inequality in one variable o o Pleed G LA i

" v o o 3 .
iv.  Define Origin S0 e v

v. Find the value of m and ¢ 2)' =4 L8 r=mx+c f X=2y=-2 ohis v
by expressing it in the form of V= nmix +¢ . - ’-;-r.'}”.vfd/ cC um
2 . X Vs ; ) 5 r - - 7~

vi. Let P be the point on X - axis with - "a'us - X gi Bl ¢r=X B2 ek L P/ i
x- coordinate “a " and Q be the point on Y- axis - "0 Yk e By Ay ek L Q
with Y - coordinate " b" . find the L a=-2 b=-3 .15:‘_-('»")#4 Ul Q P bE

distance between P and Q if a =-2 JPaAKEIB
vii. Define Isosceles triangle. -’-j‘f ..y/b’wy’-s idslr il

. " - " :.Lf; s ol .
vii Find the value of unknowns "m" and "x" for the given _Zeuianl " x "l tme pep o JEEE - vii
A

congruent triangles.

B
X LMNP s a parallelogram. Find the value of m and n. e il Laom < LW LI JLMNP -ix
P8 N
4m +/ Z
L 8m~4n M
4 Write short answers to any six parts : (6x2=12) -’é)agl:?/‘*é»lzl{:_df -4
. Define right bisector of a line segment. Pl B

(Turn Over)



Vi.

vil,

VIl

Note:

5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

(2)

Explain that the given lengths can be the lengths of the -96£ lgg,ib.wcwf Wit ?‘_f =oley i
sides of triangle. 2cm , 3 cm , 5¢cm 2cm , 3cm , 5 cm
Define Proportion. _Z_g_é_liu/./li i
Y
Verify that the triangle having the following measures of the sides U Sits WS unl it
is right angled a=5cm, b=12cm , ¢ = 13¢m -‘a&,;fﬂy’ﬁ‘,fég}_’ﬁ
State Pythagoras Theorem. - LB Yeafls e
Define Rectangular region. : -Z:.;y /ij‘:"? <Vi
Find the area of the given figure. o  [3em -éf:":}/ £ Ja Jnd: ~vii
6cm
Constructa 4 ABC in which mAB =32cm, mBC =4.2cm, mCA=5.2cm LU el ABC &4 _viii
Define incentre of the triangle. e (7 $osit Jrl st _ix

SO AIE (A (8) 3T Lo ) Erepplatmbe §f < w)

Attempt any three questions. Each question carries Eight (8) mt question
number 9 is compulsory. @

<&
Solve the following system of Linear equations by Cramer@l{@

try=9 Qﬁ@ drty=9

-gd'c. u'v(u:"G'éﬁ/ (a)-5

=3x-y=-5 -3x-y=-5
Simplify I+m nl ) -é /‘7’ (b)
8.97 95 o =,
Use log table to find the v (8:97) x(3.95F \ -2;‘;(}” et e e A8 @)-6
N5.37
3 Pl s B
it P=2+ then find the value of Tt iy P=24 V3 S
‘ I . - ..
Factorize by factor theorem 3xT-x"=12x+4 SESE enlf @)1
Find the square root using division method 9x* —6x"4 76" = 2x +1 S, (.j 2% (b)
5(x=3) = [_X
Solve the equation 6 >~ _5 ‘ SN S P (a)-8
; i
Construct & ABC and draw the bisectors of its angles -2}.{ St L Uil 1 sl 2k ABC &4 (b)

mAB =4.5¢cm , mBC ~3.1em and mCA =52¢m

Prove that any point on the right bisector of a line segment is #&ls 4.Jﬂtd)/£b.¢5&lﬁ LN ok 8
equidistant from its end points. £ r b Ssme syl 13265 L5 s
OR L
Prove that triangles on the same base and of the I LA i sl uxt’: I £e G SL U LS s

same (equal) altitudes are equal in area. -Jun/.!/.u.‘.'.}) 2y

. 9 - 118 -YHooo



Mathematics ( Science Group)

Paper

Time :
Marks :

Note

P

10

11.

12

13

14.

15.

I (Group:II) 8
20 Minutes - 8=
0! QwL-Gy -1

-2_':),2'.—__ulfrl;.':'bi;;":}b"&&"éy’.?.:/»c.J-'wi’:’éé_:&v&J'r'/de" u‘é.
.iy,r‘*»..-‘iw.c,’
- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that

Use marker or pen to fill the circles. Cutting or filling two or more circles will

circle in front of that question number.
result in zero mark in that auestion.

Roll No.

Annual 2018\

C fUW T 2i£) (1)

Objective (5%
Code : 5982

(A Su

(..r:/l/u) 1 4357,
@ 20 _-53
15 o~

D CB Az Rl o

,.—.vvgus_ ;i V] LI._..w

L6 2 6 , ==
i :} .\""0 then x is equal to el X 5 - =0 7
-9 (D) 6 (C) -6 (B) 9 (A)
Imaginary part of —i(3i+2) is - SAK —i(3i+2) r‘ u"&f -2
<3 (D) 3 (C) 2 (B) -2 (A)
The relation of y=10g x implies ¥ y=10g.x .3
yo=x ) xX=y () ' =x B x' =z (A)
(3 \/E)(}-‘ \/;_;)is equal to -z 3+ \/—)(3 \/—) -4
1 (D) =1 () - (A)
The factors of x* ~5x+6 are - 4,1 21 Ex* =5x+6 _5
x+2 . x+3 (p) x+6 , x-1 () x-2, ? g x+1, x=6 (p
HCFof X' ~5x+6 and X’ —x—6 is @Qa x'=x-6 i x =5x+6 -6
X2 (D) x4 (C) x-=3 (A)
Ao is a solution of inequality -cl-.;f: ‘ "” -2<x< %. alilag X T 7
A& x< §- @ )
3 &
3 (D) (©) 3 (B) -5 (A)
If y=2x+1 x=2 is Krizy dw y=2x+1 , x=2 /1 _8
5 (D) 4 (©) 3 (B) 2 (A)
Distance between points (0, 0) and (1, 1) is -;.JJJ uyw.ﬁ (1,1) »(0,0) 58 _9
V2 (©) 2 (©) 1 ® 0 )
in a tnangle there can be only right angle. e et SRS _J',“,chif‘u; <10
3 (D) 1 (C) 4 (8) 2 (A)
Median's of a triangle are Sl ey g Llads 11
collinear 34 (D) concurrent .Bl/' (C) congruent ”‘LP (B) parallel (il (A)
Bisection means to divide into _____equal parts. - bwts ,‘" U s e ..x" L 12
2 (D) 1 () 4 (B) 3 (A)
Congruent triangles are -VEAS::L-,'D‘#J‘;P .13
equal iV (D) unequal iz /_‘ (C) different ¥ (B) similar & (A)
The diagonals of a parallelogram divide it into .0 .T): W A inlpwensi 14
triangles of same area. -u_?é)f/.’/:u’:.d--u?
6 (D) 4 (© 3 (8) 2 (A)
The altitudes of an isosceles triangle -u_ri_m,“u'{;@v Lol A L,'U;lx -15
are congruent.
4 (D) 3 (€) 2 (B) 1 (A)



Mathematics (Science Group)

Roll No.

( (W T eaug)

L}
Annual 2018

(l—d ‘(f’lf) U‘LJ

Paper: I (Group:II) (.r:/ l/u) I 24
Time: 2 : 10 Hours Subjective (W) & 2105,
SwL-Gy -9-18
Marks : 60 p2 60 /7
-¢-JiU( 9 )/UVJOJVUJ’LUJVJ@‘}]Lgﬂf»..o -ﬁ.’.d/ﬂd;f.o -y
Note :- Section | is compulsory. Attempt any three questions from Section Il but question
No.9 is compulsory.
_Section | Jil.o
p ) ” &5 ’(
2. Write short answers to any Six parts : (6x2=12) :4‘-.}}.—.;&/’1.121446 -2
1. Define row matrix. -&F_Q;J_): Sy
1 2 2 ,
B A= . A'Y 7 AY A= ‘f, _ii
i 1 o 1lthenfind  (4') ~E e (A) § e 01
i Evaluate 7" i "‘/',"’J -iii
1
i 1 +b1 Lo a+t hi i
IV. Express 132 in standard form of ¢ . &,— ¢ f va/ 1+2 -iv
V- Wiite in the form of single logarithm 2log x-3 logy -a’vifu’({f.-’ wls 5% =V
Vi Find the value of X if  log, x=5 log,x=5 gepp od @ x v
2149 L 4% _vii
vil Sm ||f — ~/¢‘_l’¢ -
implity \/@ i—
Vil What is meant by a polynomial? el Ve 2 A _viii
IX. Factorize 1444’ + 24a+1 Q@ i".. 2= f -iX
3. Write short answers to any Six parts : ( ﬁl@ -&myzf';z,!z'gc,éf -3
i Define H.C.F. A
ii. Solve for ¥ # "-=5 -évw ZC" Xl
i Solve the equation \J e $ngs i
\v. Verify as whether the point (5, 3) lies hne U Lavu 4 2x-p+1=0 A (5:.3) @ fa—’&_ﬂ -iv
2x - y+1=0
v. Define Collinear points. ZE N BA Ly
vi. Find the distance between the following pair of points. -’J o u‘:\{u.‘.ic_,}:?‘:bs';&x:‘__: Vi
A-8.,1) . B(6.,1) A(-8.,1) , B(6.,1)

vii Define rightangle triangle. oyl i it
viil. Define SA.S postulate. “E ks € Lol i
X Define Parallelogram. -é.@f&&uﬂ“dﬂ? - IX
4. Write short answers to any six parts : (6x2=12) -&»yxﬁ"’&:zt.".—_éf -4

I, Define right bisector of a line segment.
3 em, 4cmand 7 cm are not lengths of a tria
Give the reason.

In =

g "'uv'-’ ABS »mEC =4. 8cm mAE =3.2cm . mAD = 2.4cm
ABC DE “B( 1/ mAD = 2.4¢cm mAE

SE WA

ngle. o -,,:’L,-g,-’j el Za 7 7em o 4dcom . 3cm
)

-é-"—’l});u‘f-.‘

Ji DE||BC _aBCaE

3.2¢m, mEC =4.8¢m then find mAB =
A

( Turn Over)
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& _jv

(2)
- Sl el Azss JUUS Ll et (2R Y s

w Verfy 4 having measures of lengths
that are sides of right angle triangle a=5cm, b=12cm , ¢c= 13cm
v. Find the value of ¥ in figure. el X B F Ly
x[ \{2cm
1 cm
. . 3 n.'( . TK" ' h/;" r H
vi. Define area of the figure S VU Vi
‘e . - P - 7 of / -«Vil
Vit Find area of the given figure. G R 1 By s
VB A ¢
4cm /
/5 |
”*J?d //um-f 15l 2l i
mBC = 4.2em.mAB =3.2¢m CU ek ABC &bt Lix
todid

Define incentre of a triangle
mCA4 = 5.2¢cm

r/ )= E‘:&U}?ﬁaﬂb’ufc.(jf

viii.
x. Construct & ABC in which
Section - I (12
eSO A (A ®) T LY
Note: Attempt any three questions. Each question carries Eight (8) u* question
number 9 is compulsory O
' A@*%%%‘
5.{a) Use Cramer's Rule to solve the equations @ 5 i ‘::fv ‘;,..-p)‘_/_, sUisl. (@)-5
Q gl 2y ==
@ x(27)" x (60)" L 2 (b)
5 T _‘t_,:’ /ﬂ-—

(TR0)" () x (9

J2.709% 1.239

R a).6
&[’WO‘:‘-UU/&J"&I’{(’ @
Jmurnp+mp =27, m+n+p=10 5 (b)

(b)  Simplify

2 2
m +n +p

6.(a) Use log table to find the value of
ib) o min+p=10 Zpq np+mp=27
then find the value of — m” +n° + p* 2‘;5.:(4”&42‘0/
7.(a)  Factorize the following cubic polynomial -.’3;(@/1}’3_3, 2o -:J)'f;»cfudl‘}f:"" (a)-7
by factor theorem x* —2x* —x+2 =252~ x+2
(b)  Use division method to find the square root of the expression Sk 8 rj 2% (b)
4x"+12xv 493" +16x+24y +16 4x” +12xp+9p° +16x 24y +16
,2 —— ,x#t] -2 ol (a)-8
X' =1 x+1 x+1 ,
S AL i E1 o e ABC i (b)

Solve the equation
=3.2¢cm and m<4 A =120

8.(a)

{(b) Construct the triangle ABC and draw the perpendicular
ides. mﬁ:"éicm mAC =
Any point equidistant from the end points of a line segment is on the s @i filc_ U3 .._L;o.xb’u’( I .,_lﬂ 1.9
Eells (T3 gy

bisectors of its sides
|

9.
right bisector of it
o <
YO 2 T laglsmvsly

-u:fgm: e e
10 - 118 -34000

OR
Parallelogram on equal bases and having the

same (or equal) altitude are equal in area



